Average Score 
99.3 Simulation

120 Information

113 Total

Simulation Track

Student 4  Score 67

1 20

2 10

3 10

4(earthquake) 15

7 12

Student 5 Score 68

1 15

2 10

3 10

4 (Earthquake) 10

5 3

7 20

Student 6 Score 100

1 20 No Comparisons

3 10

4(Missile Defense) 15

5 5

6 25

7 25

Student 7 Score 117+ = 122

1 20+ VG on Parallel Computing

2 20

3 15

4 (Web as Parallel Computer) 20

5 0 (IGNORED)

6 17 Communication part Poor

7 25

Student 10 (Double Sided) Score 119++ = 129

1 25++ Very Good

3 20 No Cache Discussion

5 19

6 20 Communication wrong

7 25

4 (Virtual School) 10 Incomplete

Student 13 Score 105+ = 110

4 (Earthquake) 15 Naïve Algorithm, Modest architecture

5 8

1 25+ Quite Insightful on Parallel Computing

6 25

7 20

2 12

Information Track

Student 1 Score 130++ = 140

1 25 Few Errors But Sound

5(Java) 25

7(d)(e) 25+

6(Venezuela) 25+

4 (Healthcare) 15 Incomplete

2 15 Incomplete

Student 2 Score 132+ = 137

1 25 Few Errors

2 25

4 (Internet Voting) 25

5(Java) 17

6(Korea) 25+

7(e)(d) 15

Student 3 Score 114

1 17 Incomplete

2 20 Incomplete

4 (Home Portal) 15

5(Java) 17

6(Korea) 25

7(d)(f) 20

Student 8 Score 118

1 25

2 22

4 (Shopping) 10 No technology

5(JavaScript) 16

6 20 Incomplete

7(a)(b)(c)(d) 25

Student 9 Score 112

6 20 Good but not so insightful as some

7(d)(f) 15

4(Medicine) 25 Good

1 15 Did not define a) -> j)

2 20

3 17

Student 11 (Double Sided) Score 138+ = 143

1 20 Cryptic

2 25

4 (Healthcare) 20 Good Requirements. Not much technology

5(JavaScript) 23

6(Turkey) 25

7(f)(e) 25+

Student 12 (Double Sided) Score 105++ = 115

5(JavaScript) 25

7(d)(f)(c)(e)(b) 25++

2 25 No discussion of Synchronous v. Asynchronous etc,

1 10 no parallel computing

6 20 Didn’t explain as government

Student 14 (Double Sided) Score 101

1 15 Inaccurate

2 20 Stresses Security

4 10 Mix of applications

5(JavaScript) 21

6(Turkey) 15 Incomplete

7(d)(e) 20

Student 15 Score 123++ = 133

1 25+ A few errors but insightful

2 25 More on performance than most

3 25

4 (Family Photos) 20

5(Java) 8

7(e)(f)(a)(b)(c)(d) 20+ Several but all brief

Student 16 Score 90++ = 100

1 25+

2 20+ No performance

5(Java) 25

6(Turkey) 20

Student 17 Score 108

1 16 Skimpy and parallel Computing Missed

7(d)(e) 15 weak on e)

5(JavaScript) 22

6 20 no attributes

4 (Taiwanese Townhall or family record) 25 Good architecture

3 10

Details on Question 5:

From Nancy McCracken

I counted 25 points for problem, including about 6 points for documentation,

in which I included explanations, comments, etc.  I took off about 2-6 

points for minor syntactic errors.  In this system, an average answer

came out at 16-17.

Information track:

#1 - used java 2 quite well, additional gui elements, most

sophisticated program, but no explanation:

        25 -6 (no doc) +6 (extra) = 25

#2 - simple program java1.1, some little mistakes in using awt

methods,  no explanations:

        25 -6 (no doc) -2 (error) = 17

#3 - simple program java1.1, few mistakes in awt, only a couple

of comments:

        25 -5 (doc) -3 (error) = 17

#8 - JS program o.k., no string conversion, a little extra in

use of JS to give errors, no explanation:

        25 -6 (doc) -3 (error) = 16

#11 - JS program o.k., arg check not quite right, good explanation:

        25 -2 (error) = 23

#12 - JS program o.k., nice arg check with reg expr, good

explanation:

        25

#14 - JS program o.k., documentation skimpy on ideas

        25 -4 (doc) = 21

#15 - some gui elements indicated, many java errors, event

handling not right, no explanation

        8

#16 - simple java1.1 program, syntax is most correct after #1, only

1 trivial thing, explanation is short but correct, so I guess short

is o.k.:

        25

#17 - JS program o.k., errors checked but essentially no response,

good explanation:

        25 -3 (error) = 22

Simulation Track

#5 - sketched out MPI calls o.k., but details not right, didn't

show how each processor should compute, picture incorrect about

how array is in processors, doesn't do computation:

        3

#6 - some MPI calls shown o.k., except bcast and reduce should

have all processors call, each processor computes own part of

array, it just computes sum?  reduce is used incorrectly like

receive:

        5

#7 - sketches algorithm for mean, no details:

        0

#10 - use of MPI is correct, mean computed o.k, stdev is not,

some comments:

        25 -2 (doc) -4 (error) = 19

#13 - incorrect use of MPI fns, only bcast o.k. and data decomp

described, didn't compute result, tries to use gather?

        25 -4 (doc) -13 (error) = 8

